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1. The most appropriate layout for job-shop manufacturing process should be:
(A) U-shape (B) Process (C) Cellular (D) Fixed-position

2. In sequencing jobs through one work center scheduling, which priority rule can result in
lower Work-In-Process (WIP) inventories?
(A) FCFS (B) SPT (C©)EDD (D) CR

3. Which one of following therbligs is a non-productive one?
(A)Grasp (B) Assemble (C) Preposition (D) Select

4. Which one of follows is NOT an advantage for Just-In-Time (JIT) production system?
(A) Increasing capacity utilization (B) Decreasing defective rate
(C) Increasing turnover rate (D) Making TQM easier

5. Generally speaking, which one of following descriptions for “ATP” is correct?
(A) ATP is the abbreviation of “Acceptance To Promise”
(B) ATP is determined only by Master production schedule (MPS)
(C) If the ordering quantity from a customer is less than ATP, the vendor is able to
promise this order at once without check capacity and inventory.
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(D) ATP is not needed updating to avoid data missing.

6. Which one of following descriptions for “Mass Customization” is correct?
(A) Delay differentiation is a very helpful technique for Mass Customization.
(B) Providing lower variety and low-cost products
(C) Modular design is not helpful in Mass Customization.
(D) Requiring no multiple-skilled personnel

7. Theoretically, there are four QFDs (Quality Function Deployment). Which one of following
information is NOT given in the first QFD ? '
(A) Voice of Customer (VOC)
(B) The correlation between VOC and design requirements
(C) Solutions for the conflicts between design requirements
(D) Competitive analysis

8.  Which one of following tables or graphics can ONLY tell the sequences, standard times,
content, tooling, and equipments of manufacturing operations ?
(A) Operation process chart
(B) Flow process chart
(C) Route sheet
(D) Multi-product process chart

9. In the point of view of Product R&D, which one of following descriptions is true?
(A) Manufacturability is equivalent to Process Capability.
(B) To speed up time-to-market, it is not necessary to consider the abilities of disposal and
of recycle for a newly designed product.
(C) Highly frequent engineering change (EC) occurrences should be concentrated at mass
production phase to save R&D cost.
(D) A product composed by large amount of standard components may decrease customers’

appeal.

10. Smoother OC curve means that the sampling plan:
(A) has larger sample size
(B) is more beneficial to producer
(C) has smaller acceptance number
(D) is closer to ideal sampling plan

11. Which one of following costs is NOT related to EOQ or EPQ models?

(A) Set-up cost
AEFaGHERA
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(B) Unit manufacturing cost
(C) Shortage cost
(D) Depreciation cost of material handling equipments

Break-Even Analysis may NOT be appropriate to make decision for:
(A) Facility location planning

(B) Make or buy

(C) Automatic or manual processing

(D) Inventory policy

Which one of following outputs is NOT from Material Requirement Planning (MRP)

system?

(A) Performance control report

(B) Exception report

(C) The release time and quantity of planning orders
(D) Capacity load report

Which one of following descriptions is NOT correct?

(A) The basic concept of “two-bin” system is from periodic inventory counting system.

(B) The ordering quantity of item A material in ABC classification should be less.

(C) In MRP system, items A, B, and C material in ABC classification share same
importance.

(D) Safe stock in EOQ model is able to ease the variation of demand during ordering
lead-time.

Concerning with Project Management, a technique for shortening activity duration is
called :
(A) Work Breakdown Structure  (B) Crashing (C) PERT (D) Slack time
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